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#include <math. h>

#include <M5StickC. h>

int a;

float temperature;

int B=3975; //B value of the thermistor
float resistance;

#tdefine ADCMAX (4096.0 = 5.0 / 3.3)

void setup() {
M5. begin();
M5. Led. setRotation(3) ;
M5. Led. setCursor (20, 20, 6) ;
Seriall.begin(115200, SERIAL_8N1, 0, 26);
}

void loop () {
a=analogRead (33) ;
resistance=(float) (ADCMAX-a)*10000/a; //get the resistance of the sensor;
temperature=1/(log (resistance/10000) /B+1/298. 15)-273. 15;
//convert to temperature via datasheet ;
Seriall.printin(temperature) ;
M5. Led. setCursor (20, 20) ;
M5. Led. printin(temperature) ;
delay (5000) ;




